BID ENCLOSED:

PROJECT NAME:

Central Avenue Water Main Rehabilitation (Airline Drive to

Karen Avenue)

BID PROPOSAL NO. 50-00127119

FROM:

Louisiana Contractor's License Number: 40038

Bidder's Name: Command Construction, LLC

Address: 68445 James Street, Mandeville, LA 70471

License # 40038

TO:

Jefferson Parish

Attn: Purchasing Department 200 Derbigny St., Suite 4400 Gretna, Louisiana 70053

BID FOR: Central Avenue Water Main Rehabilitation (Airline Drive to Karen Avenue)

Bid Proposal No. 50-00127119

Jefferson Parish Public Works Project Number 2013-019--WR

BID OPENING DATE:

September 10, 2019 at 2:00 pm

LOUISIANA UNIFORM PUBLIC WORK BID FORM

TO: Jefferson Parish
Purchasing Dept.
200 Derbigny Street, Suite 4400
Gretna, Louisiana 70053

BID FOR: Central Avenue Water Main Rehabilitation (Airline Drive to Karen Avenue) J.P.P.W. Project Number: 2013-019-WR Proposal No. 50-127119

The undersigned bidder hereby declares and represents that she/he; a) has carefully examined and understands the Bidding Documents, b) has not received, relied on, or based his bid on any verbal instructions contrary to the Bidding Documents or any addenda, c) has personally inspected and is familiar with the project site, and hereby proposes to provide all labor, materials, tools, appliances and facilities as required to perform, in a workmanlike manner, all work and services for the construction and completion of the referenced project, all in strict accordance with the Bidding Documents prepared by: Principal Engineering Inc., and dated: June, 2019.

Bidders must acknowledge all addenda. The Bidder acknowledges receipt of the following ADDENDA: (Enter the number the Designer
has assigned to each of the addenda that the Bidder is acknowledging) # (95/9)
TOTAL BASE BID: For all work required by the Bidding Documents (including any and all unit prices designated "Base Bid" *but not alternates) the sum of:
Three Million four hundred ninety two thousand four hundred thirty eight Dollars (\$ 3,492,438.00)
Three Million four hundred pinety two thousand four hundred thirty eight Dollars (\$ 3,492,438.00) ALTERNATES: For any and all work required by the Bidding Documents for Alternates including any and all unit prices designated as alternates in the unit price description.
Alternate No. 1 (Owner to provide description of alternate and state whether add or deduct) for the lump sum of:
<u>N/A</u> <u>Dollars (\$)</u>
Alternate No. 2 (Owner to provide description of alternate and state whether add or deduct) for the lump sum of:
<u>N/A</u>
Alternate No. 3 (Owner to provide description of alternate and state whether add or deduct) for the lump sum of:
NAME OF BIDDER: Command Construction, LLC
ADDRESS OF BIDDER: 18445 James Street, manteville, LA 70471
LOUISIANA CONTRACTOR'S LICENSE NUMBER: 4038
Name OF AUTHORIZED SIGNATORY OF BIDDER: Perek J. Commander
TITLE OF AUTHORIZED SIGNATORY OF BIDDER: Managing Members
SIGNATURE OF AUTHORIZED SIGNATORY OF BIDDER **:
DATE: 9 10 2019

THE FOLLOWING ITEMS ARE TO BE INCLUDED WITH THE SUBMISSION OF THIS LOUISIANA UNIFORM PUBLIC WORK BID FORM:

- * The <u>Unit Price Form</u> shall be used if the contract includes unit prices. Otherwise it is not required and need not be included with the form. The number of unit prices that may be included is not limited and additional sheets may be included if needed.
- ** A CORPORATE RESOLUTION OR WRITTEN EVIDENCE of the authority of the person signing the bid for the public work as prescribed by LA R.S. 38:2212(B)(5)

BID SECURITY in the form of a bid bond, certified check or cashier's check as prescribed by LA RS 38:2218(A) is attached to and made a part of this bid.

LOUISIANA UNIFORM PUBLIC WORK BID FORM $\underline{ \text{UNIT PRICE FORM} }$

TO: Jefferson Parish

Purchasing Department 200 Derbigny Street, Suite 4400 Gretna, Louisiana 70053 BID FOR:

Central Avenue Water Main Rehabilitation

(Airline Drive to Karen Drive)

J.P.P.W. Project Number: 2013-019-WR

Proposal No. 50-127119

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices.

DESCRIPTION:	■ Base Bid or □	Alt. #Removal of S	Structures and Obstructions	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
202(01)	1	LS	56,000.00	50,606.00
DESCRIPTION:	■ Base Bid or □	Alt.#Removal of I	ortland Cement Conc. Wa	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
202(02)B	2253	SY	5,00	11,265.00
DESCRIPTION:	■ Base Bid or □	Alt. # Removal of	Roadway Pavement (Full l	Depth)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
202(02)C	1959	SY	25.00	48,975.00
DESCRIPTION:	■ Base Bid or □	Alt. # Nonplastic I	Embankment (Net Section)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
203(04)	1749	CY	25-00	43,725-00
DESCRIPTION:	■ Base Bid or □	l Alt. # Excavation &	& Embankment	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
203(05)	1	LS	1.00	1,00
DESCRIPTION:	■ Base Bid or □	Alt # Excavation (Undercut) (Net Section)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
203(05)A	100	CY	25.00	2,500.00
DESCRIPTION:	■ Base Bid or □	Alt # Geotextile F	abric (Under Roadway Sul	b-Base)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
203(08)A	2513	SY	5.00	12,565.00
DESCRIPTION:	■ Base Bid or □	7 Alt # Geotextile F	abric (Under Aggregate St	urface Course)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	1105 - 1106 Apr. 100 Apr. 112	UNIT PRICE EXTENSION (Quantity times Unit Price)
203(08)B	586	SY	5.00	2,930,00
DESCRIPTION:	■ Base Bid or □	☐ Alt # Aggregate S	urface Course (6" Thick) (Net Section)
DESCRIPTION.	OUANTITY:	UNIT OF MEASURE:		UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	DIANITY	I INI OF WEADURE	OTALL LIGGE	Office Parishing (Second)

DESCRIPTION:	■ Base Bid or □	Alt. # Traffic Maint	enance Aggregate	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
402(01)	300	CY	50.00	15,006.00
DESCRIPTION:	■ Base Bid or □	Alt. # Asphaltic Pay	ement (Type 8 Binder,	PG64-22)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
501(01)A	471	TN	(00,00)	75,360.00
		1 1 1 1 A 1 1 1 D	(T 0 W :	- PO7(22)
DESCRIPTION:		Alt. # Asphaltic Pa	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	production of the control of the con	
501(01)B	811	TN	120.00	97, 370.00
DESCRIPTION:	■ Base Bid or □	Alt. # Asphaltic Par	vement (Incidental, Wea	ring, PG70-22m)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
501(01)C	29	TN	400.00	11,600.00
DESCRIPTION:		Alt. # Cold Planing		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
509(01)	2364	SY	5.00	35,460.00
DESCRIPTION:	■ Base Bid or □	I Alt # Temporary A	sphalt Patching (6" Thi	ck)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
510(01)	600	SY	125.00	75,000.00
010(01)	000		120,00	75,000.
DESCRIPTION:	■ Base Bid or □	Alt. # Fiberglass M	esh Pavement Reinforci	ng (Under Wearing Course)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
510(02)	7372	SY	12.00	88,464.00
I I I I I I I I I I I I I I I I I I I	1			8
DESCRIPTION:	■ Base Bid or □		eal Cracks (½ inch and le	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
510(03)A	2500	LF	3.00	7, 500,00
DESCRIPTION:	■ Base Bid or □	Alt # Pouts and De	epair Cracks (Over ½ inc	ch)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
510(03)B	1324	LF	3.00	3,972.00
DESCRIPTION:	■ Base Bid or □	Alt. # Portland Cen	ment Concrete Pavemen	t (8" Thick)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
601(01)	2624	SY	50.00	131,200.00
			Section Section	
DESCRIPTION:	■ Base Bid or □		Concrete Pipe (15")	Thum photor name to to the
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701(03)	4	LF	200.00	800,00
DESCRIPTION:	■ Base Bid or □	Alt # Reinforced C	Concrete Pipe Arch (15"	Eq.)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701(03)A	479	LF	100.00	47,900.00
· · ·				, , , , , , , , , , , , , , , , , , ,
DESCRIPTION:	■ Base Bid or □	Alt. # Reinforced (Concrete Pipe Arch (18"	Eq.)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
	1124	LF	125.00	140,500.00

DESCRIPTION:	■ Base Bid or □	Alt. # Reinforced C	Concrete Pipe Arch (24" E	eq.)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701(03)C	752	LF	150.00	112,800.00
				<u>.</u>
DESCRIPTION:	■ Base Bid or □	Alt. # SDR 26 PV0	C Drain Pipe (12")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701(03)D	100	LF	75.00	7,500.00
DESCRIPTION:	■ Base Bid or □	Alt. # Drain Inlet (Parish Standard)	No. of the second secon
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702(03)A	40	EA	1,000.00	46,000.00
DESCRIPTION:	■ Base Bid or □	Alt. # Drain Manh	ole (Parish Standard, 8" T	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702(03)B	5	EA	10,000,00	50,000,00
DESCRIPTION:	■ Base Bid or □		ict Box (Parish Standard)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702(03)C	4	EA	15,600.00	60,000.00
			91	
DESCRIPTION:	■ Base Bid or □		Programme and the second second second	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702(04)A	8	EA	1,000.00	8,000,00
DESCRIPTION:	■ Base Bid or □		h Basins/Drop Inlets	TO THE DRIVEN ENTERNATION (O. 10.10. The Reserve
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702(04)B	1	EA	1,000.00	1,000,00
1000		3.41. "	. (C) TI.: 1.)	
DESCRIPTION:	■ Base Bid or □		ive (6" Thick) UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY:	UNIT OF MEASURE:		
706(01)	49	SY	50,00	2,450.00
	I ED DIL F	DAIL II Comments De	ina (07 Think)	
DESCRIPTION:	■ Base Bid or		ive (8" Thick) UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY:	SY		18.3(0,00
706(02)	2152	31	55.00	110,3100,00
DESCRIPTION:	■ Base Bid or □	7 Alt # Compress W	alk (4" Thick)	
N/ACAD SERVICE PROPERTY OF THE	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	600	SY	50.00	30,000,08
706(03)	600	31	30.00	,50,000,00
DESCRIPTION:	■ Base Bid or □	7 Alt # Handican P	amp (Parish Standard) (8°	" Thick)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
706(04)	QUANTITY.	EA	1,000.00	6,000,00
700(04)	0	DA	1,000.00	1 4 1000 /-
	■ Base Bid or	T Alt # ADA Tactil	le Units (Parish Standard)	
DESCRIPTIONS				
DESCRIPTION: REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)

DESCRIPTION:	■ Base Bid or □	Alt. # Concrete Cur	b (10" Barrier)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
707(01)	284	LF	25,00	7,100.00
DESCRIPTION:	■ Base Bid or □	Alt. # Concrete Cur	b (6" Barrier)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
707(02)	183	LF	20.00	3,660.00
DESCRIPTION:	■ Base Bid or □	l Alt # Temporary S	igns & Barricades	.
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
713(01)	1	LS	100,000.00	100,000.00

DESCRIPTION:	■ Base Bid or □	Alt. # Mobilization	1	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
727(01)	1	LS	300,000.00	300,000.00
DESCRIPTION:	■ Base Bid or □		(12") (PVC/C-900 Pipe)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
728(01)A	515	LF	400.00	206,000.00
DESCRIPTION:	■ Base Bid or □	Alt. #Jacking Set U	Jp	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
728(01)B	1	LS	300,000.00	300,000.00
	1			
DESCRIPTION:	■ Base Bid or	Alt. #Water Main	(12") (Ductile Iron Pipe)	(Wet Bore, Uncased)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price,
728(01)C	436	LF	275.00	119,900.06
2-1100 1 0 0 11000				
DESCRIPTION:	■ Base Bid or □		(Type A) and U-Channel	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
729(01)	7	EA	500.00	3,500.00
DESCRIPTION:	■ Base Bid or □	7 Alt # Reflectorize	d Raised Pavement Marke	ers
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
731(02)	151	EA	(0.00	1,510.00
,01(02)	101		10.00	11010
DESCRIPTION:	■ Base Bid or □	Alt. # Thermoplast	ic Pavement Striping (Sol	id Line) (4" Wide)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price
732(04)A	9716	LF	1.00	9,716.00
DESCRIPTION:	■ Base Bid or □	Alt. # Thermoplast	tic Pavement Striping (So	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price
732(04)B	750	LF	2.00	1,500.00
DESCRIPTION:	■ Base Bid or	Alt # Thermonlect	ic Pavement Striping (Sol	lid Line) (12" Wide)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price
	18	LF	5.00	90.00
732(04)C	18	LF	,) .00	4010
DESCRIPTION:	■ Base Bid or	☐ Alt. #Thermoplast	ic Pavement Striping (Sol	lid Line) (24" Wide)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price
	192.5	LF	0.00	1.975.00

DESCRIPTION:	■ Base Bid or □	Alt. #Thermoplastic	Pavement Striping (Bro	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732(04)E	76	LF	2.00	52.00
DESCRIPTION:	■ Base Bid or □			ends & Symbols (RR X-ING)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732(04)E-1	4	EA	1,000.00	4,000,00
DESCRIPTION:	■ Base Bid or □	1 Alt # Thermoplastic	c Pavement Striping Lege	ends & Symbols (Arrow)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732(04)E-2	3	EA	300,00	900.00
. = (= .)= =			,00700	
DESCRIPTION:	■ Base Bid or □	Alt. # Thermoplastic	c Pavement Yield Markin	ngs (per square yard)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732(04)E-3	4	SY	100.00	400.00
DESCRIPTION:	■ Base Bid or □	Alt. #Loop Detecto	rs	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price,
736(09)	250	LF	30.00	7,500,00
DESCRIPTION:	■ Base Bid or □	Alt. # Construction	Layout	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price,
740(01)	1	LS	100,000,00	100,000.00
, ,				
DESCRIPTION:	■ Base Bid or □	Alt. # Water Main ((4") (PVC/C-900 Pipe)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price,
W-104	41	LF	25.00	1,025.00
DESCRIPTION:	■ Base Bid or □	Alt. # Water Main	(6") (PVC/C-900 Pipe)	
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price
W-106	169	LF	25.00	4,225.00
Viene ve de la companya de la compan	T = 192 2 2 3 2 7 -		(am	
DESCRIPTION:	■ Base Bid or □	T	(8") (PVC/C-900 Pipe) (0	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price
W-108	100	LF	1.60	100.00
DESCRIPTION:	■ Base Bid or U	Alt. # Water Main	(12") (PVC/C-900 Pipe)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price
W-112	1434	LF	[00.00]	143,400.00
	•	7		
DESCRIPTION:	■ Base Bid or	Alt. # Water Main	(20") (PVC/C-900 Pipe)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price
W-120	150	LF	250.00	37,500.00
	1		200.00	1 200.00
DESCRIPTION:	■ Base Bid or	Alt. # Water Main	(6") (Ductile Iron Pipe) (Contingency Item)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price
		THE REAL PROPERTY OF THE PROPE	THE PERSON NAMED OF THE PERSON NAMED IN COLUMN 2 IN CO	

DESCRIPTION:	■ Base Bid or □	Alt. # Water Main (1	2") (Ductile Iron Pipe)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-212	221	LF	275.00	60,775.00
				7.
DESCRIPTION:	■ Base Bid or □	Alt. #Water Main (2	20") (Ductile Iron Pipe)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-220	80	LF	300.00	24,000.00
DESCRIPTION:	■ Base Bid or □	l Alt. # Gate Valve &	Valve Box (4") (Conting	ency Item)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-404	4	EA	1.00	4,00
DESCRIPTION:	■ Base Bid or □	Alt. #Gate Valve &	Valve Box (6")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-406	4	EA	1500.00	6000.00
			Property of the Control Wall 192	-
DESCRIPTION:	■ Base Bid or □		Valve Box (8") (Conting	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-408	4	EA	1.00	4.00
DESCRIPTION:	■ Base Bid or □	1 Alt # Gate Valve &	Valve Box (12")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-412	6	EA	7500.00	
VV12		LAX	7.30().00	45,000.00
DESCRIPTION:	■ Base Bid or □	Alt. # Butterfly Valv	ve & Valve Box (20")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-520	1	EA	10,000.00	10,000.00
DESCRIPTION:	■ Base Bid or □		Committee of the Commit	I D HT DD LOT FOUTENESSON (On provide single Florid During
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-704	7	EA	1,00	7, 00
DESCRIPTION:	■ Base Bid or □	Alt. # Pipe Restrain	ts (6")	
REF. NO.		UNIT OF MEASURE:		UNIT PRICE EXTENSION (Quantity times Unit Price)
W-706	46	EA	1.00	46.00
DESCRIPTION:	■ Base Bid or □	Alt. #Pipe Restrain	THE RESERVE OF THE PARTY OF THE	A STATE OF THE STA
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-708	4	EA	1,00	4,00
DESCRIPTION:	■ Base Bid or U	☐ Alt. # Pipe Restrain	ts (12")	
DESCRIPTION: REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-712	QUANTITY.	EA	2 50.00	20 000.00
OV VISIONIA			2 30 00	7
DESCRIPTION:	■ Base Bid or U	☐ Alt. # Pipe Restrain	nts (20")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price,
W-720	8	EA	1000.00	E000. 00
			2.m	
DESCRIPTION:	■ Base Bid or I		Couplings (4")	The second expension of the se
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-804	2	EA	1.00	2,00

DESCRIPTION:	■ Base Bid or □	Alt. #Transitional (Couplings (6")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-806	4	EA	1.00	4.00
	**			
DESCRIPTION:	■ Base Bid or □	Alt. #Ductile Iron l	Fittings	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-901	9000	LB	5.00	45,000.00
				,
DESCRIPTION:	■ Base Bid or □			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-902-A	6	EA	10,000.00	60,000.00
DECORPINAL.	■ Base Bid or □	1 Alt # Water Carrie	e Connection (<1") (East	Side of Central Ave)
DESCRIPTION:		UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY:	EA	R HERRING CHARLES	5000.00
W-903-0A	10	EA	500.00	3000.08
DESCRIPTION:	■ Base Bid or	1 Alt # Water Service	e Connection (<1") (West	t Side of Central Ave., including 2" Directional Drill)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-903-0B	7	EA	1000.00	7000.00
VV-903-0D		22.1	1000.00	, , , , , , , , , , , , , , , , , , , ,
DESCRIPTION:	■ Base Bid or □	Alt. # Water Service	e Connection (1") (East S	Side of Central Ave.)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-903-1A	11	EA	500.00	5500.00
DESCRIPTION:	■ Base Bid or	Alt. #Water Service	ee Connection (1") (West	Side of Central Ave., including 2" Directional Drill)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-903-1B	8	EA	1000.00	2000.00
DESCRIPTION:	■ Base Bid or □	Alt. #Check Valve	: (6")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-904-6	- 1	EA	1.00	1,00
3		5 0 0 10 Nov 100 Nov		
DESCRIPTION:	■ Base Bid or □		ck Valve Assembly (6") (6	
REF. NO.	QUANTITY:	The second secon		UNIT PRICE EXTENSION (Quantity times Unit Price)
W-905-6	10	EA	5000.00	50,000.00
DESCRIPTION.	■ Base Bid or	7 Alt # Water Meter	and Meter Box (<1")	
DESCRIPTION:	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO. W-906-0	QUANTITI.	EA	/000,00	5000.00
VV-900-0		111	7000,00	3000
DESCRIPTION:	■ Base Bid or	☐ Alt. # Water Meter	and Meter Box (1")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-906-1	5	EA	1000.00	5000.00
DESCRIPTION:	■ Base Bid or	Alt. #Water Meter	and Meter Box (2")	The state of the s
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-906-2	5	EA	2500.00	12,500.00

DESCRIPTION:	■ Base Bid or □	Alt. #Water Meter a	and Meter Box (3") (Conti	ngency Item)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-906-3	1	EA	\$25∞.°°	\$2,500.°°
			,	
DESCRIPTION:	■ Base Bid or □	Alt. # Water Meter a	and Meter Box (4") (Conti	ingency Item)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-906-4	1	EA	\$5,000. ∞	\$ 5,000.°°
		·	/-	
DESCRIPTION:	■ Base Bid or □	Alt. #Water Meter	and Meter Box (6") (Conti	ingency Item)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-906-6	1	EA	\$ 10,000.00	\$ 10,000.°°
DESCRIPTION:	■ Base Bid or □	Alt. #Water Meter	and Meter Box (8") (Cont	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-906-8	1	EA	\$10,000.00	\$ 10,000.
			Sec.	*
DESCRIPTION:	■ Base Bid or □		Meter and Meter Box (<1	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-906-0-A	10	EA	# 1.00	# 10. ∞
	■ Base Bid or □	3 Alt # Adjust Wests	Meter and Meter Box (1"	N
DESCRIPTION:		UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY:	EA	# 1 00	ONITING EXTENSION (galaxy) and our roop
W-906-1-A	10	EA	77 7	ж 70.—
DESCRIPTION:	■ Base Bid or □	7 Alt # Adjust Water	Meter and Meter Box (2")
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-906-2-A	2	EA	#100	# 2.00
VV-300-2-A		132.1		
DESCRIPTION:	■ Base Bid or □	Alt. # Abandonmen	t of Existing AC Waterlin	e
REF. NO.	OUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-908-A	2075	LF	\$10.00	\$ 20.750.°=
DESCRIPTION:	■ Base Bid or □	Alt. # Removal and	Proper Disposal of 6" As	bestos Cement Pipe
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-908-B	450	LF	\$ 1,00	4 450.00
			•	
DESCRIPTION:	■ Base Bid or U	Alt. # Price Bros A	dapter (20")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-909-20	1	EA	\$ 1.00	# 1.00
DESCRIPTION:	■ Base Bid or □	Alt. #Price Bros Jo	oint Field Weld (20")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-910-20	1	EA	#1,00	1 1.00
DESCRIPTION:	■ Base Bid or	Alt. # Sewer Main	(8") (Lined)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price,
S-308	1104	LF	\$50.00	\$ 55, 200. °°
DESCRIPTION:	■ Base Bid or l	☐ Alt. # Sewer Servi	ce Connection Pipe	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-502	300	LF	# 15. ºº	# 45∞.°°

DESCRIPTION:	■ Base Bid or □	Alt. # Tie New or Ex	xisting Sewer Service Cor	nnection "Pipe" to an Existing 8" Main
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-503-08	10	EA	\$1,000.°°	\$ 10,000.00
3 4 4 4			1,000	
DESCRIPTION:	■ Base Bid or □	Alt. # Tie New or E	xisting Sewer Service Cor	nnection "Pipe" to an Existing Lined or New Lined Main
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-504	10	EA	\$1,500.00	\$ 15,000.00
0 001	10		1,500.	7. 1.01
DESCRIPTION:	■ Base Bid or □	1 Alt # Lined Sewer S	Service Connections	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-506	300	LF	440 00	∯ 1Z, ∞o. °°
0-000	300			7. 10,000
DESCRIPTION:	■ Base Bid or □	Alt. # Shielded Cou	nlings (6")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-606	16	EA	#JS0. ºº	# Z4∞. °°
3-000	10	Liza	1.130	" 2,1:
DECORDETON	■ Base Bid or □	1 Alt # Challand Carre	er Line Point Repair (8")	
DESCRIPTION:		UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
REF. NO.	QUANTITY:	771551757185786525155	# 2500, °°	# 12.500.00
S-708 SPR	5	EA	17 25a	11 12,508. =
HATICAL INCOME.	m == = =		a a a a a a a a a a a a a a a a a a a	• 7020
DESCRIPTION:	■ Base Bid or □		th Sewer Line Point Repa	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-708 MPR	5	EA	#3,000.00	\$ 15,000.00
WAS IN STRAIGHT ASSESSED.				
DESCRIPTION:	■ Base Bid or □	The second secon	Line Point Repair (8")	TO UT DOLGE EVERYSTON (O IL & Paice)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-708 DPR	5	EA	π_1 . –	л 5
Marie Sarah Santiako da Marie				
DESCRIPTION:	■ Base Bid or □			TO THE DOLLAR EXPENSION (O
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-902	16	EA	# 250. €	A 4,000. 55
3250000 WORD DEC 40504041 - 11		at the William Case of the William		T. C
DESCRIPTION:	■ Base Bid or □		Manual Company of the	Pipe Cleaning and Video Inspection (Gravity Sewer Main
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-906	4414	LF	#5,00	#22,070.00
				B: CI : 1771 I 4: (6-14-6-14)
DESCRIPTION:	■ Base Bid or	Alt. #Pre-Construc	tion & Post-Construction	Pipe Cleaning and Video Inspection (Sanitary Sewer
REF. NO.	Service) QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-906-A	1200	LF	#6.00	\$ 6 m @
9-906-W	1200	LI	7751	ne,w.
22222222	■ p p:1 [7 Alt # Tlaura Conne	action Currow	10 D
DESCRIPTION:	■ Base Bid or □			I INIT DDICE EXTENSION (Operation times Unit During
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-908	15	EA	\$500. €	T 1,500
The second second				
DESCRIPTION:	■ Base Bid or □			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price,
NS-01	8202	LF		765616

DESCRIPTION:	■ Base Bid or □	Alt. #Site Restoratio	n		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
NS-02	1	LS	\$1,000.00	\$ 1,000 °°	
DESCRIPTION:	■ Base Bid or □	Alt. #Exploratory Ex	ccavation		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
NS-03	1	LS	#25,000.00	\$ 25,000.00	
DESCRIPTION:	■ Base Bid or □	Alt. #Allowance for	RR Flagmen		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
NS-04	1	LS	\$70,000.00	\$70,000.00	
DESCRIPTION:	■ Base Bid or	Alt. # Excavation Pla	an		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
NS-05	1	LS	\$ 10,000.00	\$ 10,000.00	
DESCRIPTION:	■ Base Bid or □	Alt # Tree Removal	and Replacement		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
NS-06	1	LS	\$10,000.00	\$10,000.00	
DESCRIPTION:	■ Base Bid or □	Alt. # Rumble Strip	(Ground-In)	,	
REF. NO.	OUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
NS-07	4537	LF	#2,00	\$ 9,074. =	
DESCRIPTION:	☑ Base Bid or □ Alt.# Cost to contractor to list Jefferson Parish as an additional insured on Contractor's General Liability Insurance				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
000-1	1	ONLY	11.00	# 1. 30	
DESCRIPTION:	☑ Base Bid or □	Alt.# Cost to contractor	to list Jefferson Parish as a	m additional insured on Contractor's Automotive Insurance	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price,	
000-2	1	ONLY	#100	# 1 00	

Wording for "DESCRIPTION" is to be provided by the Owner. All quantities are estimated. The contractor will be paid based upon actual quantities as verified by the Owner.

Bond Number: SLA19216713

Contractor Information

Principal: Command Construction LLC

Address: 68445 James St Mandeville Louisiana 70471 United States

Owner/Obligee Information

Bond Form: Bid Bond in accordance with Contract Specifications

Owner/Obligee: Jefferson Parish

Address: 200 Derbigny Street Gretna Louisiana 70053 United States

Bond Information

Surety: Arch Insurance Company

Bid Date: 9/10/2019

Estimated Contract Price:

Time For Completion:

Liquidated Damages:

Estimated Work On Hand:

Amount of Bid Security: 5%

Contract # or IFB #: 50-00127119

Description of Job: CENTRAL AVENUE WATER MAIN REHABILITATION (Airline Drive to

Karen Avenue) Public Works Project No. 2013-019-WR

Job Breakdown:

Electronic Bidding Information

Bid Security Percentage: 5

Bid Security Maximum:

Owner Assigned Contractor Number: 172435

Primary Agency:

Ellsworth Corporation

Power of Attorney Limited to: 30,000,000

Executed

Entered By: Alexander J. Ellsworth - 8/26/2019 1:14:01 PM ET

Approved & Executed By:

Alexander J. Ellsworth

Alexander J. Ellsworth (Signed: 26-Aug-2019 01:14 PM EDT (UTC-04:00)) Signature Information

Know all men by these presents that Arch Insurance Company, a Corporation duly organized under the laws of the State of Missouri, are held and firmly bound unto the above owner/obligee by this transmission. The surety agrees to waive the Statute of

Fraud defense and further agrees that the owner/obligee is a third party beneficiary of the waiver for the purposes of enforcing this bid bond.

© 52000, Inc.

Document ID: <u>S2000-1001015954</u>

Public Works Bid

AFFIDAVIT

STATE OF LOUDIANA	
PARISH/COUNTY OF _S	t. Tammany
BEFORE ME, the un	dersigned authority, personally came and appeared: Devek J. Commander
, (Afi	fiant) who after being by me duly sworn, deposed and said that
he/she is the fully authorized	Managing Member of Command Construction, W (Entity),
the party who submitted a bid	d in response to Bid Number 50-00 27 19 , to the Parish of
Jefferson.	
Affiant further said:	
Campaign Contribution Disc	losures
(Choose A or B, if option	on A is indicated please include the required
attachment):	
Choice A	Attached hereto is a list of all campaign contributions, including the date and amount of each contribution, made to current or former elected officials of the Parish of Jefferson by Entity, Affiant, and/or officers, directors and owners, including employees, owning 25% or more of the Entity during the two-year period immediately preceding the date of this affidavit or the current term of the elected official, whichever is greater. Further, Entity, Affiant, and/or Entity Owners have not made any contributions to or in support of current or former members of the Jefferson Parish Council or the Jefferson Parish President through or in the name of another person or legal entity, either directly or indirectly.
Choice B	there are <u>NO</u> campaign contributions made which would require disclosure under Choice A of this section.

Page 1 of 4

Updated: 02.27.2014

Affiant further said:

Debt Disclosures

(Choose A <u>or</u> B, if option A is indicated please include the required attachment):

A of this section.

Choice A _____ Attached hereto is a list of all debts owed by the affiant to any elected or appointed official of the Parish of Jefferson, and any and all debts owed by any elected or appointed official of the parish to the Affiant.

Choice B
There are NO debts which would require disclosure under Choice

Affiant further said:

That Affiant has employed no person, corporation, firm, association, or other organization, either directly or indirectly, to secure the public contract under which he received payment, other than persons regularly employed by the Affiant whose services in connection with the construction, alteration or demolition of the public building or project or in securing the public contract were in the regular course of their duties for Affiant; and

That no part of the contract price received by Affiant was paid or will be paid to any person, corporation, firm, association, or other organization for soliciting the contract, other than the payment of their normal compensation to persons regularly employed by the Affiant whose services in connection with the construction, alteration or demolition of the public building or project were in the regular course of their duties for Affiant.

Affiant further said:

Affiant personally has not been convicted of, nor has he/she entered into a plea of guilty or nolo contendere to any of the crimes or equivalent federal crimes listed below. No individual partner, incorporator, director, manager, officer, organizer, or member, who has a minimum of a ten percent ownership in the Bidding Entity, has been convicted of, or has entered a plea of guilty or nolo contendere to any of the crimes or equivalent federal crimes listed below. A conviction of or plea of guilty or nolo contendere to the following state crimes or equivalent federal crimes shall permanently bar any person or the bidding entity from bidding on public projects:

- (a) Public bribery (R.S. 14:118)
- (b) Corrupt influencing (R.S. 14:120)
- (c) Extortion (R.S. 14:66)
- (d) Money laundering (R.S. 14:230)

Page 2 of 4

Updated: 02.27.2014

A conviction of or plea of guilty or nolo contendere to the following state crimes or equivalent federal crimes shall bar any person or the bidding entity from bidding on public projects for a period of five years from the date of conviction or from the date of the entrance of the plea of guilty or nolo contendere:

- (a) Theft (R.S. 14:67)
- (b) Identity Theft (R.S. 14:67, 16)
- (c) Theft of a business record (R.S. 14:67.20)
- (d) False accounting (R.S. 14:70)
- (e) Issuing worthless checks (R.S. 14:71)
- (f) Bank fraud (R.S. 14:71.1)
- (g) Forgery (R.S. 14:72)
- (h) Contractors; misapplication of payments (R.S. 14:202)
- (i) Malfeasance in office (R.S. 14:134)

The five-year prohibition provided for in this section shall apply only if the crime was committed during the solicitation or execution of a contract or bid awarded pursuant to these provisions. If evidence is submitted substantiating that a false attestation has been made and the project must be readvertised or the contract cancelled, the awarded entity making the false attestation shall be responsible to the public entity for the costs of rebidding, additional costs due to increased costs of bids and any and all delay costs due to the rebid or cancellation of this project.

[The remainder of this page is intentionally left blank.]

Affiant further said:

- (1) Entity is registered and participates in a status verification system to verify that all employees in the State of Louisiana are legal citizens of the United States or are legal aliens.
- (2) Entity shall continue, during the term of the contract, to utilize a status verification system to verify the legal status of all new employees in the State of Louisiana.

(3) Entity shall require all subcontractors to submit to the Entity a sworn affidavit verifying compliance with statements (1) and (2).

Signature of Affiant

Printed Name of Affiant

SWORN AND SUBSCRIBED TO BEFORE ME

ON THE DAY OF September, 2019.

Notary Public

CRAIG J. ROBICHAUX

Notary Public

Printed Name of Notary ID No. 9832
St. Tammany Parish, Louisiana

9832

Notary/Bar Roll Number

My commission expires Afaleath.

Updated: 02.27.2014

Addendum to Affidavit Campaign Contributions

John Young

8/15/19 \$500

10/17/18 \$1,000

7/16/15 \$2,500

3/29/11 \$2,000

5/25/XX \$25,000

9/23/10 \$1,500

9/23/10 \$1,500 (listed on LA Board of Ethics website, but believe this is a duplication)

Ben Zahn

1/13/18 \$500

10/20/16 \$1,000

9/12/16 \$1,000

3/31/16 \$500

8/27/13 \$1,000

8/26/11 \$250

1/11/10 \$250

Chris Roberts

10/21/09 \$300

Mike Yenni

10/12/15 \$1,000

Dominick Impastato

 4/2/19
 \$500

 10/17/18
 \$250

 4/25/18
 \$2,000

 10/24/17
 \$500

 10/3/17
 \$500

 7/7/17
 \$500

 2/2/17
 \$500

Ricky Templet

4/4/19 \$2000 4/4/19 \$300

Jennifer Van Vrancken

8/15/19 \$250

Paul Johnston

8/27/19 \$250

68455 JAMES STREET MANDEVILLE, LA 70471 504-887-8795 504-887-8906 (FAX)

RESOLUTION OF THE MANAGERS OF COMMAND CONSTRUCTION, L.L.C.

The undersigned, being all the managers of Command Construction, L.L.C., a Louisiana limited liability company (the "Company") pursuant to the resolutions in the Company's Unanimous Consent Agreement, hereby adopt the following resolution:

RESOLVED, that the following persons shall serve in the offices set forth opposite their names, and that such officers shall have the authority to sign bids, papers, documents, affidavits, bonds, sureties, contracts and acts and to receive and receipt therefore all purchase orders and notices issued pursuant to the provisions of any such bid or contract on behalf of the Company.

Member

Cory J. Commander

Member

Christian Commander

Managing Member

Derek J. Commander

The foregoing Resolution was adopted on January 1, 2019.

Derek J. Commander 68445 James Street Mandeville, LA 70471

Cory J. Commander 68445 James Street Mandeville, LA 70471

Christian Commander 68445 James Street Mandeville, LA 70471 Derek J. Commander, Managing Member

Cory J Commander, Member

Christian Commander, Member

CERTIFICATE OF LIABILITY INSURANCE							DATE (MM/DD/YY) 9/9/2019		
PRODUCER				THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS					
Arthur J. Gallagher Risk Management Services, Inc.					CERTIFICATE DOES NOT AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW.				
111 Veterans Memorial Blvd., Suite 1130 Metairie, LA 70005-3039				00110	COMPANIES AFFORDING COVERAGE				
				COMPANY A THE GRAY INSURANCE COMPANY					
INSURED				COMPANY B					
Command Construction, L.L.C.				COMPANY					
68445 James Street Mandeville, LA 70471			COMPANY						
COVERAGES									
THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED, NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES, LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.									
CO LTR TYPE OF	INSURANCE	POLICY NUMBER	POLICY EF		POLICY EXPIRATION DATE (MM/DD/YY)		LIMITS		
GENERAL LIABILITY X COMMERCIAL GENERAL		POLICI NOMBER DATE (MIN		NOUNT)		GENERAL AGGREGATE Unlimited		Unlimited \$3,000,000.00	
A LIABILITY		XSGL-074271	5/1/2	017	5/1/2020	PERSONAL & ADV		\$1,000,000.00	
OWNER'S & C	CONTRACTOR'S PROT					FIRE DAMAGE (A	ny one fire)	\$1,000,000.00 \$50,000.00	
AUTOMOBILE LI	ABILITY					MED EXP (Any one COMBINED SINGLE)		\$5,000.00 \$1,000,000.00	
X ANY AUTO X ALL OWNE						BODILY INJURY (Per person)			
SCHEDULED AUTOS A X HIRED AUTOS		XSAL-075266	5/1/2017		5/1/2020	BODILY INJURY (Per accident)			
X NON-OWNE		X3AL-073200	3/1/2	.517	3/1/2020	PROPERTY DAMA	AGE		
GARAGE LIABIL	ITY					AUTO ONLY - EA	ACCIDENT		
ANY AUTO						OTHER THAN AU	TO ONLY ACCIDENT		
						LAGITA	ACCIDENT		
EVOCA HADII	r\/					AGGRE EACH OCCURREN	EGATE		
EXCESS LIABILTY UMBRELLA FORM						AGGREGATE	NCE		
OTHER THA	AN UMBRELLA								
WORKER'S COMPENSATION AND						X WC STATU- TORY LIMITS	OTH ER	** *** ***	
A THE PROPREITOR.		XSWC-070986	5/1/2	:017	5/1/2020	EL EACH ACCIDE EL DISEASE – PO	LICY LIMIT	\$1,000,000.00 \$1,000,000.00	
PARTNERS/EXECL OFFICERS ARE:	TIVE X INCL EXCL					EL DISEASE – EA	EMPLOYEE	\$1,000,000.00	
OTHER				•					
DESCRIPTION OF OPERATIONS/LOCATIONS/VEHICLES/SPECIAL ITEMS The certificate holder is an additional insured on all policies except Workers' Compensation and is provided a Waiver of Subrogation, all if required by written contract. The above insurance policies shall be									
primary and noncontributory to any other insurance policies maintained by the certificate holder, if required by written contract.									
Project: Central Avenue Water Main Rehabilitation (Airline Drive to Karen Avenue) Bid Poposal No. 50-00127119; Jeff Parish Job #2013-019-WR									
					ANCELLATION In the event of cancellation by The Gray Insurance Company and if required by written				
		contract, 30	act, 30 days written notice will be given to the Certificate Holder.						
Jefferson Parish Purchasing Department 200 Derbigny Street, Ste. 4400									
Gretna, LA 70053 John Stingen									
GCF 00 50 01 01 12 THE GRAY INSURANCE COMPANY									

Louisiana certificate form: LDI COI 280990 01 12

THE GRAY INSURANCE COMPANY

The below coverages apply if the corresponding policy number is indicated on the previous page.

A. Commercial General Liability

General Liability Policy Includes:

Blanket Waiver of Subrogation when required by written contract.

Blanket Additional Insured (CGL Form# CG 20 10 11 85) when required by written contract.

Primary Insurance Wording Included when required by written contract.

Broad Form Property Damage Liability including Explosion, Collapse and Underground (XCU).

Premises/Operations

Products/Completed Operations

Contractual Liability

Sudden and Accidental Pollution Liability

Occurrence Form

Personal Injury

"In Rem" Endorsement

Cross Liability

Severability of Interests Provision

"Action Over" Claims

Independent Contractors coverage for work sublet

Vessel Liability - Watercraft exclusion has been modified by the vessels endorsement on scheduled equipment.

General Aggregate applies per project or equivalent.

B. Automobile Liability Policy Includes:

Blanket Waiver of Subrogation when required by written contract.

Blanket Additional Insured when required by written contract.

C. Workers Compensation Policy Includes:

Blanket Waiver of Subrogation when required by written contract.

U.S. Longshoremen's and Harbor Workers Compensation Act Coverage

Outer Continental Shelf Land Act

Jones Act (including Transportation, Wages, Maintenance, and Cure),

Death on the High Seas Act & General Maritime Law.

Maritime Employers Liability Limit: \$1,000,000

Voluntary Compensation Endorsement

Other States Insurance

Alternate Employer/Borrowed Servant Endorsement

"In Rem" Endorsement

Gulf of Mexico Territorial Extension

D. Excess Liability Policy Includes:

Coverage is excess of the Auto Liability, General Liability, Employers Liability, & Maritime Employers Liability policies

Blanket Waiver of Subrogation when required by written contract.

Blanket Additional Insured when required by written contract.

GCF 00 50 01 01 12